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The Law of Supply:

The number of quantities
manufacturers are willing to supply
will increase as the market price goes
up. (i.e. the supply curve will go up
from left-to-right on the graph).

PRA\CE Goes VP = QUATITY SueeLig GoES UP
( Price  GoesS Doupd = QUANTITY SffLize GoEl Bawpd

> SUPRY 1S AN I Cnganing (UPBLL) Furlesion

The Law of Demand:

The number of quantities consumers
are willing to purchase will decrease
as the market price goes up. (i.e. the

demand curve will go down from left-

to-right on the graph).
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Market Equilibrium

The quantity and price at which supply
and demand intersect is called market
equilibrium. This gives the price at
which the manufacturers and
consumers are willing to produce and
buy the same number of units.

If the market price is greater than
market equilibrium, then there will be
a surplus (more items will be
produced than sold).

If the market price is less than market
equilibrium price, then there will be a
shortage (more items will be
demanded than are produced).
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In the last example, if the market price

is set at S800, then how many items

are demanded and how many are

supplied. Will there be a surplus or

shortage of |tems in the marketplace?
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Going back to our earlier example:

(this is just like the last HW question)

If the government levies a tax of $42  This means the new equilibrium gives:
per item on the supplier and the
supplier passes that on as a price
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